H & 0l & AHS B Ml A

SN EATBY
Hu: GANY 2o
el EAYHEI 2L (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAFE MY 9,620,919 5,327,924 4,292,995
= 285,100
Jl 691,997
= 124,239
Ea 8,519,583
AN 2E 9,146,831 4,906,468 4,240,363
= 285,100
) 661,071
= 112,534
= 8,088,126
SAHAIH=2F 2 1,275,666 1,293,743 A18,077
ANEEA o2 A= 25,550 30,450 24,900
201 Ler=23 | 5,180 4,850 300
01 At2teltl 5,150 4,850 300
oUXIE XHEAHASHE A}
100,000 %1022 1,000
osHEASMHIATNL A= A}
100,000& * 10 1,000
oXEHABHE MoISIRS BALY
70,0002 713 490
oRMIRS 60,0002 %15 900
oXNHEHAZHEANG =& SEHI
8,000 x4 »30! 960
oSOHEASAHIAINLAY =8 SEHI
8,000 x2& +50 800
202 04l 16,400 21,600 25,200
01 =LHAHI 16,400 21,600 A5,200
oXSHEHHR O
20,0002 x3&*60 3,600
oSHESAZMBIANEAIEY =&
20,0003 28 50! 2,000
oEAHYR FA(AJAEH)
80,0003 27 H+6 10,800
203 HR=AH] 4,000 4,000
03 A= PR F&IH| 4,000 4,000
olatEE & 2AHR =X
1,000,000 *4=2 7 4,000
ANEEs & 2 150, 154 221,797 AT1,643
201 2= 10,340 9,800 540
01 At22t2lt] 3,340 3,340 0
oR013Hl 89 120,000« 12& 1,440
SRIIQIHY A OHEH 4g
380,000 #53] 1,900
02 S3=gHl 7,000 6,460 540
odoX AR 1,000,000& %12 1,000
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2A:
X XH -
o e

=aak
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P
LA
T o

a2t

)

HL HI H
My
02 0 02
J2 R

H0

SA - ZE . BR() - HRAR - BES of v G o HIDE2
ol Ha 1,500,000 23 3,000
SEAL IR A & SAAS
3,000,000 %14 3,000
401 Al HIZ R OHHI 118,214 190,397 AT2,183
01 AlZ8| 118,214 190,397 AT2,183
oEAA & ApMIAL
30,000,000& *14{ 30,000
o - L] LR Ha
100,000 *100CH 10,000
oHAABIAIES) HIIFE
3,500,000 22 7,000
oEAA XFAMM S 22l
3,000,000 *22 6.000
oA ARY |22 SA
20,000,000& » 14 20,000
oA HIEY S =&3At
40,000,000 %14 40,000
=J|2/AAIEHbI 60,000,000 *8.6%% 5,214
405 AHAHE S 21,600 21,600
01 AL =S F = 21,600 21,600
S AR, JHEDDI, 37 § 7Y
160,000 = 10H 1,600
o224 SCXSA FH S P
2,000,000 = 10CH 20,000
22AX4 29 426,478 389,816 36,662
201 =3 142,624 140,680 1,944
01 At22t2l] 53,760 57,560 A3,800
oE2Xa RUBHl 9
101,250 x 1004 2=+ 123 12,150
oHZ2 =2 10,0002 #1052+ 122 1,200
oZgd HII=E A Xcldl
50,0003 1004 2=+ 123 6,000
ofMIItE HAHEZ
90,0003 104 2x* 123 10,800
CHAMSMET] AALED
300,000& *10H A 300
o FAEX 25,0002 62 A% 10 4 1,500
oLglE & 250,000 * 107 2 2,500
o= A E 250,000 #5042 1,250
OMNPES 350,000 1074 2 3,500
ocHAES 350,000 * 1094 A 3,500
oRMIRS 60,0002 +x212H*13] 1,260
odxI| PRz 40,0002 * 1004 A+ 123 4,800
oA&ze| ARS 7Y
500,000 * 107 2 5,000
2 s5=34l 88,864 83,120 5,744
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SN EATBY
HY: PARY 2o
el EAFMEI 2L (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
odIIRsS 448,000+ 1000 A+ 122 53,760
oxERS 16,0002 * 1004 2+ 122 1,920
oRURS 2,200 4200 %1000 2~ 924
oZstx HMeldl 350,000 * 1090 2~ 3,500
SBANA HARHLH]
1,000 *700L* 1004 A3 21,000
coZFY S 44
188,000& #1070 A #22] 3,760
cAdE RAEF
100, 000& *10JH A +42] 4,000
202 04| 9,600 9,600
01 =LHA I 9,600 9,600
CZEBAN YRRAME S =X
10,0003 x16Z 52« 122 9,600
206 M=4| 17,160 16,940 220
01 XM= 4l 17,160 16,940 220
cAADY 2Y WE
12,0002 13100 2+ 112 17,160
301 2 E = 43,440 42,920 520
11 HAIMHIXI RS 11,440 7,920 3,520
CAAMA BAT BY
2,0003 * 13 #1000 A+ 113 %42 11,440
14 DBt 23 32,000 35,000 A3,000
SALDMA LA
80,0002 *10IH 2 +402] 32,000
307 212+01& 64,700 52,722 11,978
01 Y=+ 2H| 64,700 52,722 11,978
oIt AZoAF Y ARE
160,000 * 1404 A+ 122 26,880
oo, %=E S
12,0002 501 A+ 123 720
oNSHAMSI 223
300,000 *27H A 600
o2|ZF X OISHIdRSASE
100,000& %365 2+ 12] 36,500
401 Al HIZL 01| 126,954 106,954 20,000
01 A=l 126,954 106,954 20,000
ou LIl HA 100,000 +82C} 8,200
oHAT L £F AT S 22
1,000,0002 #1000 2 10,000
o &H=HMA 350,000& #22|* 1000 2 7,000
o5 g AldS2A2|(XCI2el, ¥F 8)
350,000 *22|* 1000 2 7,000
o=2AXNA HIHAH & 2E, tEd 4
2,000,000 *100H 2~ 20,000
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SN EATBY
Hu: GANY 2o
el EAYHEI 2L (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oSLEANL FEY EH S +~HSA
22,000,000& »14] 22,000
oS02AXA YA, FE S =ESAM
35,000,000 * 14! 35,000
oEAX A AHIA
1,600,000 *8IH A 12,800
=J|2/AAIEAH 57,000,000 *8.6%% 4,954
405 KHaHF S| 22,000 20,000 2,000
01 ML ESFSHI 22,000 20,000 2,000
oFAD| 7Y 2,000,000 *6CH 12,000
=oIXt 7 500,000 »14CH 7,000
od¥n FY 1,000,000 «3CH 3,000
A=A 2H 377,684 357,880 19,804
201 er23 | 101,007 9,259 4,748
01 At2teltl 41,539 41,539 0
oEdiz A RoHH EH
66,0002 x 1104 A% 123 8,712
CANRES 300,000& * 1100 2 3,300
ocHAES 300,000& * 110 2 3,300
b2 A=2 146,000~ 12& 1,752
oZ84d Hll= fIEXll
50,0002 x110H A% 123 6,600
oMIIOtM HAIHYE
150,000& x 110 2A+12] 1,650
oI2lf &l 250,000 * 110 2 2,750
oI AEX 25,0003 #32F A 1100 A 825
oRMIRS 60,0003 * 110 A+ 13] 660
od=)| A= 40,0002+ 1101 A+ 128 5,280
oZJ|ATIIEH WA
80,0002 %23 110 A 1,760
ocAld2e| ARE 450,000 * 1100 2~ 4,950
2 s5=34l 59,468 54,720 4,748
oMIIE=s 336,0002 x 110 A% 123 44,352
o= 20,000 6 A+ 128 1,440
oRURS 2,200 =280 122 740
oMU EEE
300,000 * 1101 A +13] 3,300
oZstx HMeldl 100,000& %1100 4 1,100
oo 2&Hl & =
188,000& x 110 2+23] 4,136
cANd= FAE+
100,000& x 110 2+42] 4,400
206 MH=Hl 16,972 15,972
01 MZH| 15,972 15,972
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SN EATBY
HY: PARY 2o
el EAYHEI 2L (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oY 2% =
12,0002 x 11+ 1A+ 11 E 13 15,972
301 EtE2 NS 45,848 50,116 N4,268
11 #AIAHIXIZ S 10,648 11,616 2968
CUAMA EHAT B
2,000& 11 *x1104 %113 %43 10,648
14 JIEt2 8= 35,200 38,500 23,300
SAADA LA
80,0002 *11JH 2xx402] 35,200
307 elztol & 53,952 56,628 A2,676
01 22X +&H| 53,952 56,628 A2,676
B} MRAE A ARE
400,000« 1104 2xx 12 52,800
oo, ABE S
12,0002 x84+ 123 1,182
401 Al HIZL 201 148,605 126,605 22,000
01 Al&H| 148,605 126,606 22,000
odl - LI HA 100,000 »48CH 4,800
oBANBA TAAMM S B2
1,000,000 * 1100 2 11,000
oEANDA HISHAIA o DY, SHIA HA
2,000,000 * 1104 2~ 22,000
CHNFHRARSA ST CH S 44
SAt 55,000,000 * 14| 55,000
SRS E Py 350,000& #22|* 110H A 7,700
oSoIHABANZ A T, FE S =83
At 21,000,000 *14! 21,000
o5 8 AIZS2c|(MCI2e , BE S)
350,000& 22| 110 4 7,700
oBAHAZTA A=A
1,600,000 8K A 12,800
oJ|Z/AAIE A 76,000,000 *8.6%% 6,605
405 KHaHE SH 12,300 12,300
01 Tt =S F=HI 12,300 12,300
oMt 2 500,000 +2K 1,000
oIt g 300,000&*11H 3,300
oIglg +¢ 2,000,000 *4H 8,000
STE29 298 2 277,200 277,200
301 EetE2 N = 277,200 277,200
14 0Bt 2a3 277,200 277,200
oBSTEAN LS =
900,000 x22H * 122 237,600
oZTEHYA ZZULHY S HRES FdH
= 300,000 x11H« 122 39,600
Sa2A=XE 12,600 10,600 2,000
202 04t 9,600 9,600 0
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SN EATBY
Hu: GANY 2o
el EAYHEI 2L (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 =LHo1b 9,600 9,600 0
o2AZ ZXUS FAYLFT
20,0002 x8& +60 9,600
307 gl2to| & 3,000 1,000 2,000
NIEEEEET] 3,000 1,000 2,000
oUT AN STU2AE U X
15,0002 %208 102 3,000
date 29 2l 6,000 6,000 0
201 Ler23 | 6,000 6,000
02 S5=24g4l 6,000 6,000
o222 MMFHl & Z2 )8 RAES
500,000& * 122 6,000
SISANEES 5,130,000 213,103 4,916,897
= 80,000
& 20,000
= 5,030,000
sSHEEHA S 018 A= 4,929,000 23,103 4,905,897
= 80,000
< 20,000
[Ea 4,829,000
401 Al HIZL S 0HYI 4,709,000 4,709,000
01 Al&HI 4,696,300 4,696,300
osHEASAHIANLAY 2AA01HA
= EXI0HY] 4,696,300,000& 4,696,300
03 A2 THYI 12,700 0 12,700
oSUHE2ASAHIANEAIY 2220(& A
= EX0H 12,700,000 12,700
405 AtatE = 220,000 23,103 196,897
= 80,000
= 20,000
Ea 120,000
01 ML ESFSHI 220,000 23,103 196,897
osHE S MHIA BAXE Y =S HH|
- 20,000,000& +65 120,000
= 80,000
= 20,000
Ea 20,000
ox=0E 2 MHIA BAXE P2 (XEX)
50,000,000 »2CH 100,000
SERUYHEH 29 201,000 190,000 11,000
307 elztol & 156,000 156,000 0
05 21t =2 156,000 156,000 0
oSHRAYH 2LHI(2AA 21248 &) X
13,000,000& «1H*12& 156,000
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HY: PARY 2o
Belr S AlLEtE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 45,000 24,000 21,000
01 Al&H| 45,000 24,000 21,000
CTYQUYH BLTM
45,000,000& *13] 45,000
LS AIS 53,968 62,348 /8,380
EINFSE= 53,968 62,348 A\8,380
201 et 3| 13,408 18,288 A\4,880
01 At 2|l 10,408 10,888 A480
o224 HFLHII=E S ASX2/I
80,000& *122 960
SHEY 24E MATIE
2803 *45+1,000& 1,120
ompIf £l 250,000 56} <23 3,000
SOl 2H ANTEE
20,0002 305 +43] 2,400
S L 60, 00021424124 240
ollg S 2AHYER =M SE|
8,000 x6& 56! 2,688
02 S3=gHl 3,000 7,400 A4,400
ol & AN FH| =&HI(HEHEEAMEH
2l 103) 3,000,000 3,000
307 212+01& 40,560 40,560
01 22X 2| 40,560 40,560
oUrEtAl A & M=
1,000 »1005+282& 28,200
oE A= JIEt ABF
4,0002x6F*105+ 122 2,400
odlz 9IE 5,000 +«32*105+122 1,800
oUAE HEES SAHI
1,000 +680& * 122 8,160
ofefatel 474,085 537,286 263,201
Jl 251,810
[ 6,226
Ea 216,049
AR 2Ae|ArE 19,070 23,030 23,960
201 el 11,270 11,270 0
01 At22t2lt] 11,270 11,270 0
oss8dz 2t EEE S HH
730,000 23] 1,460
cH%NE =HE 60,0002 *60H 3,600
oA MNESE EX
200& %5,0000H 1,000
oI2lf &l 250,000 *3CH 750
ONPES 5,000 +305+63] 900
oRdZRE 60,0002 x3& =22 360
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SN EATBY
HY: PARY 2o
el olefae (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
coltiREx 3|
8,000 x4 »100! 3,200
202 04dl 5,400 9,360 A\3,960
01 2L AL 5,400 9,360 23,960
ocoloriA NEFHE =&
20,0003 x38 90! 5,400
301 22N = 2,400 2,400
14 JIEt2 = 2,400 2,400
oAHIAF 22I1D] AR 2SI
100,000 x2& =12 2,400
SR Hatatel 37,675 56,35 18,681
) 18,840
< 5,650
= 13,185
308 XXM SOIA 37,675 56,356 18,681
Il 18,840
== 5,650
o 13,185
11 S [2S0 e YA A A 37,675 56,356 18,681
o3|t LA} 2l=H| XS
7,535,000 +5H 37,675
Il 18,840
== 5,650
o 13,185
S ALY 2,000 2,000 0
301 EtE NS 2,000 2,000
14 IIEt2 8= 2,000 2,000
ofEdd &= s
10,0003 *50 & *43] 2,000
FAA S84 2812 A2 230,000 270,940 240,940
) 230,000
307 lztol & 230,000 270,940 A40,940
Il 230,000
02 QB AANEER 230,000 270,940 A40,940
oF X Ss2=J12 2&H| K&
230,000,000& %12 230,000
7l 230,000
FotXl 224 2012 XA (XHA) 180,000 180,000 0
307 @I2t01 & 180,000 180,000
02 QB HANSEER 180,000 180,000
oFHuX S84 2012 KA (XHA)
180,000,000 *13] 180,000
USSR 1,000 1,000 0
Jl 700
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A BAZM
Hu: PN 2o
=9l Qe EER-E)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
i 300
307 gI2Hol M 1,000 1,000 0
| 700
= 300
01 2 2¥¢+=H| 1,000 1,000 0
ooZ X oAZ & JIAM
10,0003 *100E 12| 1,000
J| 700
= 300
AEUSE HRU=F 500 500 0
J| 350
i 150
201 Lt | 500 500 0
| 350
= 150
01 At 22|l 500 500 0
oXN2NE FAH|(MLY HA ME S)
500,000& *13l 500
| 350
o 150
NsSHESAHI| X KH 3,840 3,460 380
| 1,920
= 576
= 1,344
307 212+01 A 1,440 1,060 380
J| 720
= 216
= 504
01 =¥ 7=H| 1,440 1,060 380
oXSAXMEAHD| ARE S(8td2l, W)
44,0003 *109H 2 1,440
J| 720
= 216
= 504
405 KHHE SH| 2,400 2,400 0
| 1,200
= 360
= 840
01 AL =EF S| 2,400 2,400 0
oRESAZEAI| 7Y
2,400,000 14 2,400
| 1,200
& 360
i 840
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HY: BARY 2o
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
gatel 1,511,628 2,027,485 A515,857
= 171,978
Jl 409,261
= 76,207
Ea 854,182
YT SA 206,493 318,005 A111,5612
201 Zet=3h] 13,510 7,310 6,200
01 AtR2t2|HI 12,370 6,170 6,200
oHYEES dE MH 70230, 0000HK 2,100
olegEE 222 € 2R A
1,000,000 42 4,000
CHYEE NPEE S
300,0002 %105 3,000
oLglE & 250,000 *3CH 750
o2 R= 60,0002 x3& *23] 360
cHUESAMEFE SEH
8,0002x38+90 2,160
2 s5=34l 1,140 1,140 0
oE2ERH 380& *3,0000H 1,140
202 04| 4,800 3,060 1,740
01 2L A 4,800 3,060 1,740
SHYNE 22 £
20,0003 38 +80! 4,800
307 elztol & 188,183 307,635 A119,452
01 22X+ &I 188,183 307,635 119,452
oRz HYEs 4= 7Y 31,683
-Fdd =& 10,0002 +3,000H 30,000
B 2t& 5, 1002 +330& 1,683
oRz HYES 144,500
-GN Ol&f CHATEZE o2& S
105,000& x500H 52,500
-65Ml Ol& Eo|AE S|
20,0002 %2,000& 40,000
AR sRelol SFS el
20,0003 +200 4,000
-22 HLES AZ(63) 2L
8,0002+6,000& 48,000
oNgEE A2F(108) 7
200, 0002 *105+62 12,000
=t L E S AL 750,808 750,808 0
Il 375,404
o 375,404
307 212+01& 750,808 750,808 0
Jl 375,404
T 375,404
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Hu: PN 2o
ool gl (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
01 922 =H| 750,808 750,808 0
o(gl0] HEEE 2E(168) 2L
1,132,000& *103] 11,320
J| 5,660
= 5,660
o0l HEES Hold E&H|
32,840,800& %103] 328,408
J| 164,204
= 164,204
o(Helo] S& ¢4l
1,220,000& 13 1,220
J| 610
= 610
o0l =& Yol 83|
47,920,000& *13] 47,920
J| 23,960
2 23,960
oEsmIstd S2 HERY)
140,000& *13] 140
J| 70
= 70
oFsnIstE S Wl FEY|
5,880,000&*13] 5,880
J| 2,940
2 2,940
oM =2 Holw FEY|
3,880,000& *13] 3,880
J| 1,940
= 1,940
oMol HYRE Wl FEY|
32,304,000&%103] 323,040
J| 161,520
= 161,520
oHpV IXIEZ2A2 X Hol HEH|
440,000 103 4,400
J| 2,200
= 2,200
oHPV 0IE S A gold 83|
2,460,000&%103] 24,600
J| 12,300
= 12,300
2L ESAIS (BH2UHFALD|, MOIMECFE) 31,186 31,186 0
J| 15,593
= 4,678
= 10,915
307 212to| ™ 31,186 31,186 0
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el

CFB SIS - MRAY - BES

Ofl &F2H

HMEE
Ofl &k2h

S

M

15,593
4,678
10,915

NEEEEEN
oHOl YRS FB(4B) 7Y

7,035,000 43!

140,000& %12

4=
=]

t0

oHV 1Xt b

I
4]
|
10
i
1
©°

r

50,0003 *42]

oHV DIEEX 43 2

300,000& *42]

o =
|2 835

150,600 10

0
o @
= og!
B
02
ol
z
S
0y
02
=
oz
>
e
0F
[¢]

S

EUNGE

S

M

S

M

S

M

S

M

31,186

28,140
14,070
4,221
9,849

140
70
21

200
100

70

1,200
600
180
420

1,506
753
226
5271

31,186

M H

35,885
10,766
25,119

93,231

AB7,346

307 212+01™

UMY

35,885
10,766
25,119

93,231

A57,346

0
4
12
=
Ol
Jn
IS
=
g
1]
ORA
12
0f
4

o @

MO

M

35,885

5,085
1,526
3,559

30,800
9,240
21,560

93,231

Ab7,346

284

284
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HY: BARY 2o
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 142
s 142
201 er23| 284 284 0
Jl 142
= 142
01 At2teltl 284 284 0
oZex nssw| 164, 00021 2 164
) 82
o 82
oZRN AY2R= 60,0002 1 +23] 120
Jl 60
o 60
D2LHY Hal ogES At 333,330 753,673 N420,343
= 166,665
== 49,999
[Ea 116,666
307 212+01& 333,330 753,673 A420,343
= 166,665
=S 49,999
s 116,666
01 22 +=H| 333,330 753,673 N420,343
cIZLHY HLES B2 BSHI
20,5002 %16,260& 333,330
= 166,665
= 49,999
o 116,666
g2 106,770 0 106,770
201 2= 18,970 18,970
01 AtR2t2lt] 18,770 18,770
oxgddc g 2=
5,000 %2000 105 10,000
SHIV, 401 2E8d g2 & =R ME
5,0003*300H*25 3,000
oZFEAL ANFES S
300,0002 %105 3,000
ougHL MEES S
250,000& %12 250
ocxgddcd g =N Sl
8,000& x3&+0& 2,160
oZgE 2 L=l 60,0002 x3& +23] 360
02 35244l 200 0 200
oZHAg | 200,000& *12] 200
202 04l 4,800 4,800
01 2LHoIH 4,800 4,800
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HY: BARY 2o
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cddgel 9L =4
20,0003 x3& »80! 4,800
301 EtE2 NS 1,180 0 1,180
11 #AIAHIXIZ S 1,180 0 1,180
ostl=EXEs f5 =2 Al
8,0002 68 x123] 480
SBHHIRIDIES & A X
50,000 *14H 700
307 elzto| & 81,820 81,820
01 22X +&H| 81,820 81,820
S RMIULAIE S JIIINAST & A2F
3,700 %21,6007H 79,920
oBtHEt XIBE2XAE & AR2E
20,0002 20 400
oUMBT HAGNE U AQE
20,0002 25 E *32 1,500
SISOI0H) 288 olgt2c 7,400 5,500 1,900
) 3,700
< 3,700
206 MH=H| 7,400 5,500 1,900
Il 3,700
= 3,700
01 M=8l 7,400 5,500 1,900
SASIIPHZEY ogeEs S Y
2,500 *2,960H 7,400
7l 3,700
= 3,700
olol=2gel xI=Hl K& 9,706 7,806 1,900
= 4,853
< 1,456
= 3,397
307 elztol & 9,706 7,806 1,900
= 4,853
== 1,456
o 3,397
01 22X 2| 9,706 7,806 1,900
oolol=Zgel XI=Hl X
970,600 10 9,706
= 4,853
s 1,456
s 3,397
OI01 = &ISHAIF FH] 80 80 0
= 40
= 40
307 elztol & 80 80 0
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HY: BARY 2o
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 40
s 40
01 22X S| 80 80 0
o00IE MEAIZF - S
80,0002 %12 80
= 40
Ea 40
08 284 38 & g X 840 840 0
2 420
= 126
Ea 294
307 el2to| & 840 840 0
2 420
= 126
= 2%
01 22X+ &H| 840 840 0
CHHAEAIY PO U XIS X
105,000 +82] 840
= 420
== 126
= 2%
Sy X N2 2,209 0 2,209
) 1,104
S 442
= 663
307 212t01d 2,209 0 2,209
Jl 1,104
S 442
[Ea 663
01 22X 2| 2,209 0 2,209
oYATHUHAL K&
2,209,000& x1H 2,209
Il 1,104
== 442
o 663
Haa ZEi ZAF E AHKZ 6,657 6.746 A89
Il 3,329
== 1,331
o 1,997
307 212+01& 6,657 6.746 A\89
7l 3,329
= 1,331
o 1,997
01 22 +=H] 6,657 6.746 89
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